
El grupo GL2(F2) = SL2(F2)

|GLn(Fp)| = (pn − 1) · (pn − p) · · · (pn − pn−1), | SLn(Fp)| =
1

p− 1
· |GLn(Fp)|.

Para p = 2 tenemos
|GL2(F2)| = | SL2(F2)| = (22 − 1) (22 − 2) = 6.

GL2(F2) = SL2(F2) = {I, A, B, C, D, E},

donde

I =
(

1 0
0 1

)
, A :=

(
1 0
1 1

)
, B :=

(
0 1
1 0

)
, C :=

(
1 1
0 1

)
, D :=

(
0 1
1 1

)
, E :=

(
1 1
1 0

)
.

La tabla de multiplicación

· I A B C D E

I I A B C D E

A A I D E B C

B B E I D C A

C C D E I A B

D D C A B E I

E E B C A I D

La tabla de multiplicación de S3

◦ id (1 2) (2 3) (1 3) (1 2 3) (1 3 2)

id id (1 2) (2 3) (1 3) (1 2 3) (1 3 2)

(1 2) (1 2) id (1 2 3) (1 3 2) (2 3) (1 3)

(2 3) (2 3) (1 3 2) id (1 2 3) (1 3) (1 2)

(1 3) (1 3) (1 2 3) (1 3 2) id (1 2) (2 3)

(1 2 3) (1 2 3) (1 3) (1 2) (2 3) (1 3 2) id

(1 3 2) (1 3 2) (2 3) (1 3) (1 2) id (1 2 3)


